EHiu (@R £01

EoAIHTRHFELIRFEEEFL LI,

(6]

@3)

%)

(W]

9

(11)

(13)

(15)

an

(19)

(21)

(23)

(25)

5.4 m? =

1400 km? =

10090 m? =

2610 m? =

3000 ha =

2500 a =

1.2 km? =

90020 m? =

9.6 m? =

9.6 ha =

90090 m? =

1000 m? =

5280 ha =

ha

ha

ha

ha

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

7.8 ha =

3.3a=

5300 a =

32000 ha =

900 km? =

8480 a =

80080 ha =

4500 a =

1000 km? =

6830 a =

2.22 ha =

9a=

476000 m? =

7*-585622426

m

ha

km?

km

ha

ha

km?

ha

ha

Copyright 2009 7>7~® K Y /L http:/kaminodrill.sakura.ne.jp/



B (@R €02

EoAIHTRHFELIRFEEEFL LI,
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(W]

9

(11)
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(15)

an

(19)

(21)

(23)

(25)

24 a =

320 km? =

200 a =

4.86 km? =

7750 a =

5000 ha =

7.2 km? =

3966 a =

3000 ha =

1000 m? =

4.44 & =

900.8 km? =

4140 ha =

ha

ha

ha

km

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

9640 ha

2.4 ha

6370 m?

320 km? =

1800 ha

2900 a

2990 m?

423000 m?

0.78 ha

6 km?

3800 a

441600 m?

1900 m?

7*-585622426

km?

ha

ha

km?

ha

ha
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an

(19)

(21)

(23)
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6830 a =

800 km? =

3300 m? =

1.44 km? =

2520 ha =

60060 ha =

2664 a =

400 a =

3 ha =

9.6 m? =

16 a =

840 km? =

10030 m? =

ha

ha

km

m

ha

ha

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

7*-585622426

650 km? = ha
6350 a = m?
1.14 ha = km?

100 a = ha
2800 km? = a
1000 km? = ha
20070 m? = ha
30040 ha = km?

420 km? = a

800 m? = ha
10000 ha = a
1800 km? = a
60050 ha = km?

Copyright 2009 7>7~® K Y /L http:/kaminodrill.sakura.ne.jp/
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(23)
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9.6a

7.2 ha

1.8 km?

3940 a

1700 m?

4.5 ha

300 km?2

7.2 m?

1.8 ha

29 a

132000 m?

7100 m?

1000 km?

ha

km

ha

ha

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

7*-585622426

5580 m? = a
3.3 km? = ha
19000 ha = km?

7.8a= ha
4.8 ha = a
9 km? = a
50090 m? = ha
1800 a = ha
62900 ha = km?
4.02 km? = ha
72a= ha
1600 ha = a
1.2 km? = a
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(21)
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7.2a=

97740 ha =

6800 m? =

2800 a =

5520 ha =

30050 m? =

6490 m? =

800.4 km? =

7.2 km?

20060 ha =

9750 a =

1.8 ha=

50020 m? =

ha

km

ha

ha

km

ha

ha

km

ha

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

7*-585622426

28a= m?
7.8m? = a
4.44 kxm? = ha
900 ha = a
2250 a = m?
2000 a = ha
88000 ha = km?
6 ha = a
3000 m? = a
3.42 km? = ha
414 a= m?
2.4 km? = a
700 km? = ha
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EoAIHTRHFELIRFEEEFL LI,
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(W]

9

(11)

(13)

(15)

an

(19)

(21)

(23)

(25)

3.96 a =

1700 m? =

7.2a=

20040 m? =

3.96 km? =

6.6 a=

12a=

300 km? =

0.6 ha =

365500 m? =

390 ha =

2.22 km? =

ha

ha

ha

ha

m

km

ha

km

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

50020 ha

6.6 km? =

9150 ha

1360 a

5700 m?

9 ha

400.6 km?

8580 m?

6650 ha

1000 km? =

1740 a

2200 km? =

4600 m?

7*-585622426

km?

ha

ha
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(W]

9
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an

(19)

(21)

(23)

(25)

21 a=

50070 m? =

12500 ha =

3000 m? =

4.68 a=

4.92 km? =

1.8 km? =

452000 m? =

1500 ha =

3.72a=

1600 a =

9720 ha =

600.1 km? =

ha

km

ha

ha

ha

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

200 ha

4.8 a

2.58 km?

750 km? =

207000 m?

6.6 ha

6000 m?

20090 ha

9.6 km?

9.6 m?

10080 m?

26 a

1200 km?

7*-585622426

ha

ha

ha

km

ha

m
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(W]

9

(11)

(13)

(15)

an

(19)

(21)

(23)

(25)

24a=

9490 ha =

5520 m? =

4460 m? =

2800 km? =

900.7 km? =

4.08 a =

4.2 a=

7.2 km? =

50070 m? =

13a=

1.8 ha=

80040 ha =

ha

ha

ha

m

ha

ha

km

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

3.6 m? =

53000 ha =

1.14 km? =

9050 a =

7200 m? =

1700 ha =

89500 ha =

1000 km? =

7450 ha =

50010 ha =

2400 m? =

3000 km? =

132800 m? =

7*-585622426

km

ha

ha

ha

km

ha

km

ha
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(19)

(21)

(23)

(25)

28 a =

9700 m? =

3.6 km?

0.84 a=

7100 m?

30060 m? =

9950 ha =

2.7Ta=

100 km? =

3.36 ha =

3m? =

520 km? =

3.6 km?

ha

km

ha

km

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

400 ha =

0.36 km? =

411000 m? =

1900 ha =

160 km? =

1200 a =

500 km? =

9.6 ha =

24 a=

15a=

3500 ha =

9880 a =

80030 ha =

7*-585622426

ha

ha

ha

ha

ha

ha

km
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(23)
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2500 ha =

90010 m? =

4.8 a=

2200 km? =

1.68 ha

840 km? =

2100 a =

3100 ha =

820 km? =

1640 m? =

6.6 a=

7800 ha =

26a =

ha

ha

km

ha

ha

ha

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

4.02 a

150 km? =

4.2 ha

5800 m?

0.96 a

9.6 km? =

4.62 ha

1000 m?

3.9 km?

3.18 a

2000 m?

1200 ha

90030 m?

7*-585622426

ha

ha

km

ha

km

ha
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(19)

(21)

(23)

(25)

900 km? =

3 ha =

26a =

500 km? =

6.6 ha =

12000 ha =

300.2 km? =

480 km? =

1000 m? =

4.8 m? =

1300 a =

30030 m? =

ha

ha

km

ha

ha

ha

ha

ha

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

1.2 km? =

3080 m? =

0.54 ha =

176000 m? =

1700 km? =

2.82a=

70090 m? =

1900 m? =

52860 ha =

6200 ha =

300 km? =

17a=

7*-585622426

km

ha

ha
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9
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an

(19)

(21)

(23)

(25)

46500 ha =

400.4 km? =

1700 a =

70050 m? =

1400 km? =

400.2 km? =

8880 ha =

1100 m? =

480 km? =

3.6a=

3000 ha =

10a=

7.2 km?2 =

km

ha

ha

ha

ha

ha

m

(2)

4)

(6)

8)

10)

12)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

7.8 ha =

1000 km? =

24500 ha =

4.68 a=

4450 m? =

20070 ha =

486500 m? =

4600 a =

800.6 km? =

3940 ha =

9.6a=

240 km? =

7*-585622426

ha

km

ha

ha

km?

ha

ha
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